
IAG-ACC-F3142 - IAG I-Line Tailgate Table
with Integrated Cutting Board 2021+ Ford

Bronco
Part# IAG-ACC-F3142

Congratulations on the purchase of your IAG I-Line Tailgate Table with Integrated
Cutting Board, and thank you for choosing IAG Off-Road. These instructions are
intended for users with basic mechanical skills. Professional installation is not required.
The average installation time is 20-25 minutes. 

Video Instructions can be found here:

https://youtu.be/UaqPQtGOpKc

Step 1/24

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 1/13

https://youtu.be/UaqPQtGOpKc


IAG-ACC-F3142 - IAG I-Line Tailgate Table
with Integrated Cutting Board 2021+ Ford

Bronco
Part# IAG-ACC-F3142

Tools Required For Installation:

1/4" Drive Ratchet
8MM Socket
10MM Socket
10MM Wrench 

Step 2/24

IAG-ACC-F3142 - IAG I-Line Tailgate Table
with Integrated Cutting Board 2021+ Ford

Bronco

NOT ALL HARDWARE INCLUDED WILL BE USED. EXTRA
HARDWARE IS PROVIDED IN CASE OF LOSS AND FOR

OTHER APPLICATIONS.

Step 3/24

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 2/13



Step 4/24

Numbered annotations (5)
1

2

3

4

5

Step 5/24

Numbered annotations (5)
1

2

3

4

5

1

2

3

45

Tailgate Table with Integrated Cutting
Board

M4 Allen bolts

M4 Socket Nuts

Black Washer

Aluminum Washer

1

2

3
4

5

8MM & 10MM Wrenches

T-Bolts and T-Studs

IAG Logo Color Plates

Black 8MM Nuts

10MM Nuts

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 3/13



Step 6/24

Numbered annotations (1)
1

Step 7/24

Numbered annotations (1)
1

1

Remove the rear tailgate cover by
pulling straight toward you to release
the clips.

1

Locate your supplied T-Bolts,
aluminum washers and 8MM socket
nuts

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 4/13



Step 8/24

Numbered annotations (1)
1

Step 9/24

Numbered annotations (1)
1

1

Install T-Bolts in the upper slots with
all bolts aligned toward the center
and tighten with supplied wrench or
8mm socket/wrench

1

Locate your T-Studs, aluminum
washers and 10MM socket nuts

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 5/13



Step 10/24

Numbered annotations (1)
1

Step 11/24

Numbered annotations (1)
1

1

Install T-studs into lower slots
towards center tighten with wrench
provided or 10mm socket/wrench

1

Locate your remaining aluminum
washers

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 6/13



Step 12/24

Numbered annotations (1)
1

Step 13/24

Numbered annotations (1)
1

1

Install washers onto all T ends

1

Locate and choose IAG logo color
plate

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 7/13



Step 14/24

Numbered annotations (1)
1

Step 15/24

Numbered annotations (1)
1

1

Open your Tailgate Table and install
IAG logo color plate to the back of
your Tailgate table using (4) of the
supplied M4 bolts and (4) M4 nuts

1

Locate your black mounting washers,
2 aluminum washers, and nuts and
keep them handy.

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 8/13



Step 16/24

Numbered annotations (1)
1

Step 17/24

Numbered annotations (1)
1

1

Place your open Tailgate Table onto
the mounting hardware

1

Place and fit a washer and nut onto
each mounting bolt and hand tighten

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 9/13



Step 18/24

Numbered annotations (1)
1

Step 19/24

Numbered annotations (1)
1

1

Place and fit an aluminum washer
and nut onto each mounting bolt and
hand tighten

1

Tighten each nut using provided
wrench or 8MM socket/wrench

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 10/13



Step 20/24

Numbered annotations (1)
1

Step 21/24

Numbered annotations (1)
1

1

Tighten each lower 10MM nut with
provided wrench or 10MM
socket/wrench

1

Check fitment by opening and closing
cutting board

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 11/13



Step 22/24

Step 23/24

Numbered annotations (1)
11 Check fitment by closing and latching

Tailgate Table

If you have any questions, please
reach out to support@iagoffroad.com

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 12/13



Step 24/24

IAG-ACC-F3142 - IAG I-Line Tailgate Table W/ Integrated Cutting Board rev. | 46950 v4 [Published] 2023-05-23 14:15 UTC

IAG Off-Road 13/13


	Step 1/24
	Step 2/24
	Step 3/24
	Step 4/24
	Numbered annotations (5)

	Step 5/24
	Numbered annotations (5)

	Step 6/24
	Numbered annotations (1)

	Step 7/24
	Numbered annotations (1)

	Step 8/24
	Numbered annotations (1)

	Step 9/24
	Numbered annotations (1)

	Step 10/24
	Numbered annotations (1)

	Step 11/24
	Numbered annotations (1)

	Step 12/24
	Numbered annotations (1)

	Step 13/24
	Numbered annotations (1)

	Step 14/24
	Numbered annotations (1)

	Step 15/24
	Numbered annotations (1)

	Step 16/24
	Numbered annotations (1)

	Step 17/24
	Numbered annotations (1)

	Step 18/24
	Numbered annotations (1)

	Step 19/24
	Numbered annotations (1)

	Step 20/24
	Numbered annotations (1)

	Step 21/24
	Numbered annotations (1)

	Step 22/24
	Step 23/24
	Numbered annotations (1)

	Step 24/24

